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143.

144.

12 + 3)(d = 6x £ 9xd) = N Fimes v e v
2) 16( x=- 2)( X2 +x+4) 2x(y —0F = 24x%.

PasoxuTe Ha MHOMKUTEIH:
1) (a + 4)3 - 27; 2) (a - 9)° + 64.

MpumeHeHue paznuyHbIX CNOCOG0B Pa3/I0XKEHUSA
MHOro4Y/leHa Ha MHOXUTENH

PasnoskuTe Ha MHOMKUTEIIN:
1) 722 - 28; 3) 3x* — 3x2y?
2) 8a® - 108a; 4) 4m*n?® — 64mip?;
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5) 3x2 — 48xy + 1922, N
29 IPUHEMAET IIo- 6) _75b% + 30b% — 32 - =ath-q2y i
wennsx x. Kaxoe 7) 245 — 164/% 10; ;\;: 4y + *2 = 164%;
BRIpAKEHNEe U Mpy PadOMUTE HA MHOMIMTe m: Y = X%y — x5 4+ 43, -
1) 22 + 2xy + y? — 64; S
2) m? + 1612 + 8mn — b2, = =
3) 2%’ —xy +y — y;
4)a®+27—3a—a?% 5
5) 212 — 610 + 9x® — 36; ; '

145,

|9 IpHHEMAET OT-
reanax x. Kakoe
bIpaKeHHe U IIPU

HeH:
). 6) b® + 64a® + b% + 8ba + 16a2;
2b - 6) + 9 mpu- N x%—6xy +9y?—a®—2a-1;
1 m06BIX 3HAUe- 8) dx? — y? — 4x + 1.
446, PemmuTe ypaBHEHUE:
1) 7% — 28x = 0;
EeHuii 2) 81x3 + 36x% + 4x=0;

3) % — 242 - 9x + 18 =0;
4) 2% + 422 + 4 + 16 = 0;
5) 8x3 — 6x2%2 — Thx + 150 = 0;

=4 =0
6) x° 4 3_x2—4x-4
147 n)ni ,+ 4x ,t%x.-.mw.,mnu TpEXUJIEH, BBIEINB KBagpaT





